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J ac@ M To Make
With 4mm needles cast on 47 sts,

Row 1(RS): K to end.
All even rows (WS): k4, p to last 4 sts, k4.
Size Row 3: k2, yo, k2tog, k9, [yo, ssk, k5, k2tog, yo, k3]
150cm by 2lem twice, kB, ssk, yo, k2.
59in by 8%in Row 5: k2, yo, k2tog, k10, [yo, ssk, k3, k2tog, yo, k5]
twice, k5, ssk, yo, k2.
Materials Row 7: k2, yo, k2tog, k11, [yo, ssk, k1, k2tog, yo, k7]
2 balls Rico Fashion Silk Blend DK shade 002 twice, k4, ssk, yo, k2.
1 pair of 4mm/UK8/US6 needles Row 9: k2, yo, k2tog, k12, [yo, sl 1, k2tog. psso, yo,
Note: The yarn amounts are based on average k9] twice, k3, ssk, yo, k2.
requirements for the specified tension and yarn. Row 10: k4, p to last 4 sts, k4.
Rep rows 3 to 10 until scarf measures
Tension approximately 150cm, 58in, or desired length,
24 sts by 30 rows in st st to 10cm, 4in on 4mm ending with row 10.
needles Next row (RS): knit to end.

It is essential to work to the correct tension. If there  Next row (WS): k4, p to last 4 sts, k4.
are less stitches, use a thinner needle, if there are Cast off loosely.
more stitches, use a thicker needle,

Finishing
Ahhraviatiqns Sew in ends and block to shape. Refer to yarn label
cm  centimetres for care instructions.
in inch(es)
k knit

k2tog knit 2 stitches together

mm  millimetres

p purl

psso pass slipped stitch over

rep repeat

RS  right side

sl1  slip 1 stitch knitways

ssk  slip, slip knit = slip 1 knitwise, slip 1 purl wise,
insert left needle into front of both stitches
and knit together.

st(s) stitchles)

stst stocking stitch. 1 row knit, 1 row purl.

WS  wrong side






